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Quick Quiz V

R1 and one out, B7 has a 3-1 count. Pitch is in the dirt and calla a ball, ricochets off
F2’s shinguard and heads toward the dugout. The ball comes to a complete stop outside
of the 1% base dugout as F2 chases after it. F2 stumbles and kicks the ball into the
dugout. The plate umpire calls time when the ball enters the dugout. B7 touches 1% just
before the catcher kicked the ball.

R2 is awarded third base

R2 scores

B7 is awarded 1%

B7 is awarded 2™

B7 is awarded 3"

The plate umpire must rule if F2’s actions were intentional
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R1, R3 and 2 outs. Batter hits an inside-the-park home run. R1 misses 3" base. R1’s
infraction is properly appealed by the defense. How many runs score?

a. 3

b. 2

c. 1

d. None

R2, R2 one out, the offenses wants to double steal, but R2 misses the sign from his coach
and does not steal. The batter hits a routine pop up between F6 and F4. R1 does not
stop, reaches 2" base and is standing on the base with R2. The batted ball hits R2 in the
helmet while he is standing on 2™ base.

Infield fly should be called

R1 cannot be called out because he is protected when standing on the base

R1 is out

The ball is live

Time should be called as soon as ball hits R1

R1 is returned to 1* base
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2-2 count and one out, the pitch hits B-9 on the hand as he attempts to swing. The ball
rolls 3 feet in front of the plate. B9 begins to run to 1% as F2 picks up the ball and throws
it to 1. B9 is 60 feet up the line and both of his feet are in fair territory. F2’s throw hits
B9 in the back.

Live bal until the ball hits B9

Interference by B9. Time is called and B9 is out

Hit by pitch. B9 is awarded 1%

Foul Ball

B9 is out
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